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(1) HIPEHRIT 5L F— 3 27 A

PREF 2N TR A Z TNE (h=R 85% : HHV)
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GRS )" WAR(=E- §4 40, 624MWh  —RT=RLF—{HE & 478, 861GJ
A 1 2 3 4 5 6 7 8 9 10 11 12 |5t
E—K EE BE BEE AE AE AE AE AE AE AE AE BE
JKB(°C) 172 16.4 17.3 18.3 20.1 23.2 24.0 254 255 23.1 224 19.6
|B R %) 46.2 329 18.4 32.8 43.7 67.1 82.2 87.5 83.1 54.2 35.1 31.9
S 3.76 3.92 4.56 6.95 6.47 6.14 5.34 470 467 5.81 6.11 4.05
B #(GJ) 55440 | 39480 22080 39360 52440 | 80,520 | 98640 | 105000 | 99,720 | 65040 | 42,120 | 38280 | 738,120
E 7 (MWh) 4,096 2,798 1,345 1,573 2,251 3,643 5,131 6,206 5,931 3,110 1,915 2626 | 40,624
:’kg‘“ “| 51,967 35496 17066 15354 21974 35554 65103 | 78738 | 75259 | 30350 18689 | 33,313 | 478,861
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A 1 2 3 4 5 6 7 8 9 10 11 12 |5t
E—K EE EE EE AR AR AR AE AE AR AR AR EE
MEERIR FE(°C) 15.2 18.2 21.4 25.0 26.4 2238 185 15.3
AEIKECC) 18.6 214 2438 29.4 31.0 274 235 21.0
BRES 46.2 329 18.4 3238 43.7 67.1 82.2 875 83.1 54.2 35.1 319
HE 0.85 0.85 0.85 6.83 6.28 5.51 4.42 4.20 452 5.70 6.55 0.85
B %i(GJ) 55440 i 39480 i 22080 i 39360 | 52440 | 80520 | 98640 | 105000 | 99720 | 65040 | 42,120 | 38280 | 738,120
= H(MWh) 0 0 0 1,601 2320 4,059 6,199 6,944 6,128 3,170 1,786 0| 32207
BREGY) 65224 | 46,447 | 25976 0 0 0 0 0 0 0 0| 45035 | 182,683
—RIFF —
) 65224 | 46,447 25976 15624 22,639 39619 78654 88111 77,756 | 30935| 17434 45035 | 553454
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A | 1] 2 3 4 5 6 7 3 9 10 11 12|35t
£—F EE [EE BEE AR AR AR AR AE AE AR AE BEE
SN SFB(C) 4.2 4.4 104 134 19.5 23.0 26.5 28.2 23.6 18.7 11.3 6.9
ﬁﬁ(%) 57.2 54.2 64.1 66.5 73.7 774 75.2 81.3 76.5 711 49.7 59.0
3.13 3.10 3.83 5.51 5.20 4.80 441 4.14 4.79 547 6.01 3.40

ﬁﬁ(GJ) 55,440 39,480 22,080 39,360 52,440 80,520 98,640 105,000 99,720 65,040 42,120 38,280 738,120
EHE(MWh) 4,920 3,543 1,601 1,984 2,803 4,656 6,210 7,037 5,786 3,304 1,947 3,132 46,923
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HBEGY) 49,053 35,320 15,962 19,783 27,951 46,420 61,913 70,161 57,689 32,941 19,409 31,222 467,825
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| BT (%) 66.5 737 77.4 75.2 813 76.5 711 497
EIES 0.85 0.85 0.85 551 5.20 4.80 441 4.14 479 547 6.01 0.85
HH(G)) 55440 39480 22080  39360] 52440 80520 98.640] 105000 99.720[ 65040 42120  38.280] 738,120
E 51 & (MWh) 0 0 0 1984 2803 4656 6210 7037 5786 3304 1947 o] 33728
[PREHGY) 65224 46447 25976 0 0 0 0 0 0 0 o] 45035] 182682
—RIPILF—
HEEGY 65224| 46447 25976 19,783 27951 46420  61913] 70,161 57689 32,941 19.409| 45035 518949
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(1) ZRLF—a R NRRETE LY
Ml S 58/ 33,728MWh  —  46,923MWh = —13,195MWh (ffi ffl &35 00)
B S AL B 8RKF : 182,682Gd =+ 45MJ/mi X 1,000 = 4,059,600 mi
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EAEHEHIRAE (B9%H) =  —138,195MWh X [ )k Hf)
PREVEFEHIAE = 4,059,600 m' X (B AH A 13A @ Hff)
(mx X —ax MG =  (EBEHHIREE) + UREPEHEHIEEE)
(2) ZTHXAF—a R MPRFEETERWES (VX — (AR ZFIH)
(518,949GJ — 467,825GJ) X 0.00106[/kJ X 1,000 = 54,191 FM/4F
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FEDINFEHOETE T, RIESFMECIRINF - IAMRIARSEE, FTRORBMEFRZANTLIO.

ES R Eith EH{if R Eith =2y
[53H 0.00443| F3/kcal 0.00106| FM/kJ
VI 0.01342| F/kcal 0.00321| MH/kJ
FoH 0.00532| F/kcal 0.00127| HMH/kJ
KT3eH 0.00641| F3/kcal 0.00153| MH/kJ
2 0.0098| H/kcal 0.00234 M/kJ
AEEH 0.00434| F3/kcal 0.00104 FM/kJ
CEH 0.00399| F/kcal 0.00095| FMH/kJ
B AT7IVN 0.00234| M/kcal 0.00056| M/kJ
Gila1-I2Z 0.00171| F/kcal 0.00041| FM/kJ
LPG 0.01006| M/kcal 0.00240| M/kJ
EHRERALKIRAR 0.00328| M/kcal 0.00078 M/kJ
LNG 0.00529| F/kcal 0.00126| M/kJ
TOAMBETRMER AL A 0.00529| M/kcal 0.00126| M/kJ
JRA R 0.00195| A/kcal 0.00047| FM/kJ
— %R 0.00147| F3/kcal 0.00035| MH/kJ
IER 0.00181| M/kcal 0.00043| MH/kJ
ARI-IR 17,308 M/t - -
mEYI P 0.00154| F/kcal 0.00037| FMH/kJ
=Y SIPS 0.00025| A/kcal 0.00006| FM/kJ
BRIFH R 0.00061| F/kcal 0.00015| FM/kJ
#HHAR 0.00529| M/kcal 0.00126| MH/kJ
TOABDRRRL 0.00025| A/kcal 0.00006| FM/kJ
AR 4,800 FM/GJ
SEIK 7,546 M/6J
57K 6,723 M/G6J
BEERESE 1,250 FM/6J
REBEBRESE 1,340 FM/6J
LFEUHNEE 1,280 FM/GJ
BZRFEE 6,000 F/mMwh

(%) 1kcal=4.1868LkJ1=0.0041868LGJ]



